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Course: AP Calculus BC | Quiz: 22 | Instructor: D. Shubleka

Name No calculators. Present neatly. Score .
1)

Find the shortest distance from a fixed point (x;,y,) to the straight line Ax+By=C.
2)

Use limits to find the area that graph of f{x)= x* +2x+3 forms with the horizontat axis on
the interval [-1, 3]. (Show all the work leading to your answer.)
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Name
1)

No calculators. Present neatly. Score

Find the shortest distance from a fixed point (x;,¥,) to the straight line Ax+By=C.
2}

Use limits to find the area that graph of f(x)=x"+x*+3 forms with the horizontal axis on
the interval [-1, 3]. (Show all the work leading to your answer.)

Your work:
2) fm = a3 Yy =3 x2x = % (zx+2) <o (L ; ©)
E I)=3 i
f o E{"‘ _ (f
B . a flzyro
: 2
 EE R U . M S, Plo) 7e
- h "
- \\ 1-1]%‘3 = ﬁ*;'“\*;f'f‘ff%\*g
/ SR N é"‘ 3 — i TN
i[iﬂ —. b 52 ¢ +ff,_(;.1-»%
3 " h™ "
(Vs = | o2 [ b4 .3 T ..
S f Ve i"w%{'é '"ELS””%E”—(, #it‘t‘g’)
i e (:“-I g hh i
64 9 ;z 2
V\*ﬂ?(;@ [ Z 2 "1"{'( %L F‘r;
' 1 ) :
- JL‘M ,,ﬁ—““ éﬁ;__ V{(’M-ﬂ) -3t \f’?(‘v‘w\;) (zmev L M(M_‘) g
koo h 2 nt e e T + 40
6w T3
= - 156w 4, s I (Lowbe - 2oy
It . 4 ) T -t ‘ -
“on -t

i

Tw
+ 4 M'
(; 4 N L&g_ o (8 “+ Tl = 8 ef - E:Z_ffi — }j%/(
3 2 X



